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INSTRUCTIONS

1. This paper consists of 8 pages. Ensurc that you have all of them.
2. There are two parts to this paper: PART I contains 70 multiple choice questions worth 1
mark each. PART II contains 10 shorl answer guestions worth 3 marks each,

3. You are required to attempt all questions in both parts,

4. If any question or part of a question is not clear, make reasonable assumptions and
attempt the question. stsmimptiunﬁ must be clearly stated in the answer sheet,
4. All Answers must be written in separate answer sheets provided. Answers written on

question papers will nol be accepted.
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1) Iflogyy x = 2, the value of x is:
(a) 26 (by 15 ()11 (d) 169

2) If astraight line interscets the X axis at -3 and the Y axis at 10), the equation of the line i5:
{a) yv=—-2x4+10 (bjy=10x+1 (Cyy=2x+ 10 (dyy = 10x + 10

3y If two dice are thrown al the same lme, the probability of getting 2 on both the dice is:
1 1 2 1
(a) = (B ©) 5 (3

43 21 to 2 decimal place is:
(2) 4.54 (h) 4.58 fc) 4,32 (d) 4.14

5) 99909 x 99999 is
{a) 9999800001 (h) BE/79999E0 (c) 9898765444 (d) 6354444449

&y If three men take 3 days to complete a piece of work, how many days will 2 men take to
complete the same piece of work?

{a) 3 days {b) & days () 9 days (d) 12 days
‘:||' ']"'h b' ft] ﬁ.- t' 12%.:1.{.;.‘-..
) The 1g;gest of these 3Eu:: fons =, 7 ?;5 is: )
(@3 (b) 7 (G2 (4

2y Il two times the square of a number is cight times the number, the number is:

{a) +2 by 2 {c) 4 {d) 8

9y Thevalue of x ifdx 4+ 4 = 20 is
(@) 5 (b) -4 {c)4 (d)-5

10) A particular ¢ily uses 5 alpha numeric dipits for vehicle numbers with the first digit for
alphabets and the rest four digits for number 0-9. I the numeric part of a vehicle number
cannot he all zeros, what is the total number of vehicles that can be registered in that city?

(1) 260,000 (b 259,000 () 100,000 (d) qogag
113 If seven tenths of a school’s drama troupe are girls. YWhat is the ratio of boys o girls in the
lroupe?
() 7/10 (b) L0/7 (c) 713 (dy 3/7
12} In Electronics VLSI stands for;
(a) Virtual language simulated instructions (1) Very large scale integrated
(c) Very long simulated instructions (d) Virtual low scale instructions

13) The building blocks of computer chips are:
Aa) Memory (b} Registers {c) Transistors (d) Silicon
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fa) Wood (b)) Rubber {ie) Leathf:r ({l} stecl
15) Which is the most obvious of Newton’s Laws applied in rockets?
(a) Wewton's Iirst Law (b)Newron’s Second Law
{c) Newton’s Third Law {d) Newlon’s Fouith Law

163 If salt is added when meat is builed in water:
(a) Meat will cook faster (b)) Meal will conk slower
{c) There will be no elfect  (d) Meat will taste nice

17y The phenomenon ciployed in fiber optic communication is:
(a) Total internal reflection  (b) total internal refraction

{c) light in glass (d) light through plass
18} A kilo byte contains:

{a) 1000 bits (b) BOOO bily (¢} 1024 bits (d) 5192 bits
19) in strongly typed programming languages the following is true:

(a) functions return a value {(b) functions don’t return values

{¢) procedurcs return a value (d) variables have to be declared before use

20) An commerated data type is:

(o) User delined (b) system defined  {c) not applicable (d) programmer defined
21) is not an example of system soltware:

{a) Windows XP (h) Unix {c) compilers (d) ROCSC's Zhivog System
22) The number ABC is aexample of a mamber;

(a) Binary {b) Octa {c) Hexa {d) Decimal

23) The dimension of Nanotechnology is:

(a) 10°m by 10%em (@) 10%m () 107cm

243 In database design reducing/removing redundancics is an example of:
(a) denormalization {h) normalization
(¢} namralization {d) denaturalisation

257 A stack 1s a:
{a) First in first out queue (b} first in last out queus
(c) last in last out queve {d) none ol the abave

260 A global variable's scope is:

{a} whaole function {b) whole procedure
(¢} whole program (d) none of the above

271 A division by Zero in a program could lead 1o:
(a) Syntax error (h) semantic error  {¢) language crror (d) exception error
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28) Which about JAVA language 15 not truc:;

(a) High level lanpuage (b) object oricnted language
(c) Machine independence  (d) procedural language

297 Ajax is a:
(a) Weh technology (b) processor (c) new OS5 {cl) none of the above

301 A secure way ol translerring data in web is:

{a) http {h) fip () hitps {d) none of the above
31) Linux is an example ol

{a) Proprietary software (b} open source software

(¢) application software () nune of the above

32) The value of binary number [111 is:

{a) 11 (12 {c) 14 (d) 15
33) The value of Hexa number 2E is:

{ay 32 (h) 30 {c) 40 (d) 48
343 In IP V4 there are _ 1P addresses in totak:

(a) 2'% (hy 2.1 (c) 2% (dy 2™
35)In IP V6 there are _ 1P addresses in total:

(a) 2'% () 271 (c) 2% (dy 2™
36) The number 00-18-8B-C4-87-88 is an example of:

{a) IP address (b Mac Address {¢) host name (d) network name
3731 A router s an example of OS] layer cquipment.

{a) 2 (b4 {c) 5 {d) none of the above

38) The terms “push” and “pop” are related to:
(a) queues  (b) stacks (o) all lists (d) arrays

39) When you send a same message “speak” to a cat object, a dog object and a cow objeet, and if
gach one responds appropriately such that the cat purrs, the dog barks and the cow moos, what

is this an example of in OOP?
{a) object (b) inheritance (¢ encapsulation (d) polymorphism

40) A compuler program compiles successlully but doesn’t produce the expected output. Thisis a
case of:

(a) Semantic error (b} syntax error (¢) exceplion crror  (d) general bug

41) The mobile communications standard used in Bhutan 1s:
(a) CDMA  (b)GSM ) TDMS (d) CDMS

A7) XML slands for;
(a) Extended machine Langnage  (b) Extended Markup Language
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-:H} [he maost expensive stage Lo rectily a computer system under dwelupxm 111 15 ﬂitul it has

reached the ) stage: _
{a) Design (b) coding (c) lesting (d) analysis
443 Satellite Internet connection is not technically appropriate for call centre business because:
(a) it is very expensive (k) it has low bandwidth
{c) some places may not have it (d) it has inherent delay

45) The definition of internet broadband used in Bhutan is:
{a) bandwidth »= 512 kbps (b) bandwidth == 256kbps
(¢) bandwidth <= 128 khps  (d) bandwidth >=64kbps

A46) VolIP stands for:
{a) Voice over Internct Protocol (b) Virtually Over-layered Internet Presence
{c) Voice over Intranet Prolocol () none of the above

47) Microsoft recently releascd its latest Operating Systemn called:
{a) Vista | (b)) Vista 2 (o) Windows 5 fd) Windows 7

48) The first file that is displayed when visiting a website 15 the:
(a) Index file (b) home page (¢} liest file  (d) php file

49) LAMP is a combination of technelogy used for:
(a) Ohject Oriented Programming () Coding Operating System

{c) Web programming (i} Linux troubleshooting
500 Apache 15

(a) An OS (b) Desktop (¢} Web scrver (d) Linux clone
51) ____has the maximum bandwidth capacity.

{a) UTP cable {b) coaxial cable (¢} tiber optic cable  (d) wimax
52) Facebook is:

{a) Name of Google’s website (b} Microsoft’s mirror site

(¢) A free downloads site {d) a social networking site

533 The study based on the human nervous syslem is:
{a) Robotlics ()} The Bionic Eve
{c) Neural Networks (0} Immunology based Antivirus

543 The “Ping” command is uscd to:
{a) Test for basic conneclivity (h) retrieve [P address
() Trace connectivity route {d) pet host name

55)1f | can access the RCSC’s websile using IP address, but not its URL, then there is something

wrong with:
{a} The DHCP (b) DNS () Domain Controller {d) the wehsite
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560) T'he term URL stands l'm'.:l

(a) Universal resource localor {h) uniform resource locator
(¢) Unified resowrece locator (d) none of the above

37) is a secured way of communication over the unsecure internet,
{a) VPN (b} VIAN (c) VoIP (d) NTP

58) NIC card 15 another name for:
(a) Metwork card (b} memory card (¢} graphics card {dy data card

59) DMZ is part of the network where you host:
(a) Services internal to the organizations (b} Services cxternal to the organization

(¢) Services for beth internal and vutside  (d) DHCP services

60) Which ahout UDP is true?

{a) Layer 3 protocol (I) same as TCP

(¢} cormeclionless {d) conmection oriented
611 A _ separates a LAN into different collision dommains,

{a) hub (1) switch {c) router {d) firewall
62) A _separates a network into different broadeast domains.

(a) hub (b} switch (c) router {d) firawall
63) The 1P address 172, 16.0.0 is an cxample of:

{a) Broadcast address (b) notwork address

(o) Multicast address {d) subnel mask
64 [P address 202,144.155.7 15 an example of Class IP address:

(2) A (L) B (©)C (d)D

63) In a Class C IP address, 2 bits are used for subnets. The total number of hosts is:
(a) 64 () 128 (c) 256 (d) 62

661 A type of malware that looks [or private or sensitive information, tracking what the user docs
with the computer, and passing the information back to the attacker is called a:

{a) worm (b} spywarc {¢) keystroke logger  (d) Phisher
61 In the given sequence, -1,2,1, 3,4, , the number most appropriate in the blank is:
(a) 12 (by 7 (c) 18 (d) 21
68) In the number arrangement helow, the value in the should be:
(a) 7 (b) 9 () 1 (d)2
1 i 3
5 9 4
4 5
G2 In the sequence, 4, 54, 654, , the number in the should be:
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701 Deki needs 17 hottles of water from the store. She can carry only 3 bottles at a time. [ow
many trips will she have to make?

{a) 5 {b) 3.5 (c)6 (d)7
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1) Write a Pseudo code to find the n™ power of a number x, (x" ), where the power operalor is
nol available. All other operators are available,

2y List the seven layers of the OSI model. Explain the function of layer 3.

3} Whal is open source soltware? Briefly mention two benefits it has for a country like
Bhutan.

4) Whalt is vutsourcing? What potential does it have for Bhutan?

5) Whal three paramelers are the most important in project management? State the (radeolls
lhat exist belween the three?

6) Some people say that consuming hol beverage such as tea during hot days helps cool the
body. Is it scientifically lrue or [alse? Explain your answer.

Ty What is denial of service or DOS attack?

8) Inan ISP, a particular link that provides services to its customers has 3 parallel roulers, so
that the link Tails only il all the three routers go down at the same time. If the failure rate of
each router is 0,19, What is the reliability of that particular link?

9 What is normalization in database design? State one reason why a designer would choose
not to normalize the relations, .

10} Explain the differences between TCP and UDP. Name an application suitable for each

protocol, ;

Page 8 of 8



